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1. If lim, o $n224as+bs — 9 thena+ b= _H

2. A circle of radius /2 with center (0, a) is inscribed (R EJ5?)
in the parabola y = 2z%. Thena=

3. Suppose H(z) is a differentiable function on (0,c0) and
satisfies H(z?) = % J§ [2t* — H'(t)| dt. Then
H@3)=_W '
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5. Let S be the solid bounded above by the cone

z =2 — /2% + y? and bounded below by the
disk: (z — 1)2 4+ y? < 1. Then the volume of S = _ [

6. ‘,’1":1;1—!(—;;—2—)- = & . (Hint: Think of ze®)

7. If the least amount of paper per volume is required to
make a conical ([E]#fF) paper cup then the ratio h/r of
the height A and the radius r of the rim is B

8. Let P be the path of steepest descent along the surface
z = 22+3y? from the point (1, —2, 13). Then the projection
curve onto the zy-plane of P is 3%
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1.(10%) Prove that £32,(—1)" [(1 + 4™ (14 %)"] is
convergent.

2.(10%) A company needs a warehouse to contain 108 ft3. They
estimate that the floor and ceiling of the building will
cost NT$3 per square foot to construct and the walls
will cost NT$7 per square foot. Find the cost of the
most economical rectangular building.

3.(8%) Suppose that f(z,y) = 0 implicity defines y as a func-
tion of z and that 3" and the second partial derivatives
of f exist. Express y” in terms of the first and second
partial derivatives of f.




